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BT T2 MRl T8 T =% BT % Mg T8 T =%
HX 40,356 86,116 41,083 45,033
RIRET1T 6 15 9 6
RIRET2T 27 58 28 30
AIEET3T 181 592 286 306
RIRET4T 417 987 489 498
B 631 1,652 812 840
REH 2,729 6,111 2,840 3,271
L&A 4,346 9,414 4,373 5,041
5E 2,641 5,842 2,826 3,016
B AN 1,322 2,860 1,342 1,518
BERT 1,391 1,942 944 998
BER2T 868 1,500 731 769
BERST 701 1,663 806 857
B 2,960 5,105 2,481 2,624
BEXRE 280 642 312 330
[N 2,191 4,866 2,315 2,551
hERE 638 1,419 657 762
e 2,461 5,023 2,430 2,593
25 L ET 2,332 5,038 2416 2,622
B &AL BT 77 151 62 89
HEFILET1T 563 1,205 558 647
HEFILET2T 609 1,272 605 667
HEZFILAT3T 670 1,508 739 769
g 1,919 4,136 1,964 2,172
B & it B Fr ET 688 1,539 743 796
BHEREBET1T 571 1,144 563 581
BHERERET2T 761 1,713 827 886
BHERERETST 801 1,610 728 882
BHERERET4T 513 935 441 494
HEKERETST 829 1,665 797 868
HEERET6T 886 1,890 919 971
BHERERET7T 890 1,850 925 925
HERERETST 70 206 102 104
£t| 5321 11,013 5,302 5,711
HEF R FET 2,017 4,145 2,025 2,120
S|EFET1T 629 1,574 785 789
S|EFET2T 779 1,748 821 927
S|EFET3 T 741 1,375 629 746
g 2,149 4,697 2,235 2,462
ERE1T 581 1,314 632 682
EIRET2T 391 1,037 513 524
EREIST 527 1,335 649 686
EIRETAT 688 1,438 641 797
EIZEIST 522 1,113 558 555
g 2,709 6,237 2,993 3,244
ME A 2,915 6,183 2,926 3,257
J\THET1T 34 35 16 19
J\THET2T 24 54 28 26
J\THEI3T 49 105 47 58
B 107 194 91 103
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